



Nom: _____

Date: _____ Note: _____

$$8^{(-2)} - 5 =$$

$$3^{(-1)} - (-10) =$$

$$(-1)^{(-2)} - 8 =$$

$$(-1)^2 + (-6) =$$

$$4^{(-1)} - 9 =$$

$$(-10)^{(-1)} + 5 =$$

$$10^0 + 4 =$$

$$1^{(-1)} + 3 =$$

$$(-5)^{(-1)} + 4 =$$

$$10^2 + 7 =$$

$$2^0 + 3 =$$

$$(-5)^2 - (-8) =$$

$$9^{(-1)} - 4 =$$

$$(-10)^{(-2)} - (-6) =$$

$$2^{(-2)} + (-6) =$$

$$6^2 + (-4) =$$

$$2 + (-1) =$$

$$4^2 - (-3) =$$

$$(-1)^2 + (-5) =$$

$$3^0 - (-4) =$$



Nom: _____

Date: _____ Note: _____

$$8^{(-2)} - 5 = \left(-\frac{319}{64}\right) = \left(-4\frac{63}{64}\right)$$

$$3^{(-1)} - (-10) = \frac{31}{3} = 10\frac{1}{3}$$

$$(-1)^{(-2)} - 8 = (-7)$$

$$(-1)^2 + (-6) = (-5)$$

$$4^{(-1)} - 9 = \left(-\frac{35}{4}\right) = \left(-8\frac{3}{4}\right)$$

$$(-10)^{(-1)} + 5 = \frac{49}{10} = 4\frac{9}{10}$$

$$10^0 + 4 = 5$$

$$1^{(-1)} + 3 = 4$$

$$(-5)^{(-1)} + 4 = \frac{19}{5} = 3\frac{4}{5}$$

$$10^2 + 7 = 107$$

$$2^0 + 3 = 4$$

$$(-5)^2 - (-8) = 33$$

$$9^{(-1)} - 4 = \left(-\frac{35}{9}\right) = \left(-3\frac{8}{9}\right)$$

$$(-10)^{(-2)} - (-6) = \frac{601}{100} = 6\frac{1}{100}$$

$$2^{(-2)} + (-6) = \left(-\frac{23}{4}\right) = \left(-5\frac{3}{4}\right)$$

$$6^2 + (-4) = 32$$

$$2 + (-1) = 1$$

$$4^2 - (-3) = 19$$

$$(-1)^2 + (-5) = (-4)$$

$$3^0 - (-4) = 5$$